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Read the following instructions before you answer the
questions. Answers are to be given in a SEPARATE OMR
ANSWER SHEET provided inside this booklet. Break the
seal and start answering the questions once asked to do so.

1. Please write your ROLL NUMBER very clearly (only one
digit in one block) as given in your Admission Card.

2. There are 90 questions in this test. The questions are
arranged in the following order :

* Questions 1 to 35 belong to Social Science Subjects.
* Questions 36 to 70 are on Science Subjects.
¢ Questions 71 to 90 are on Mathematics.

3. Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
alternative as shown below.
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4. All questions carry ONE MARK each.

5. There is no negative mark. Every correct answer will be
awarded one mark.

6. Do not write your name on any part of the question booklet
or on the answer sheet.

7. Rough Work can be done in the space provided at the end
of this Booklet.

8. The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

9. The Question Booklet Alpha Code will be printed on the
top left margin of the facing sheet of the Question Booklet,

10. The Question Booklet Alpha Code allotted to you will be
noted in your seating position in the Examination Hall.

11. If you get a Question Booklet where the Alpha Code does
not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

12. Check whether the Alpha Code given in the Question
Booklet and the OMR Sheet are the same.

13, The Question Booklet Serial Number is printeq on the top
right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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Class - VIl

There are 90 questions in all. For each question
four alternative answers are given marked as (A),
(B), (C), (D). From these, find the most appropriate
answer. The number denoting the answer is there
in the answer sheet against the question number
concerned. Darken the circle with Blue/Black Ball
Pen only. Record the answers thus in the OMR
answer sheet only. Do not write anything in the
question booklet except your Roll Number on the

cover page and rough work in the space provided
for the purpose.

1. Identify the geographical feature of the
Neythal Tinai.
(A)
(B)
©)
(D)

Hilly region
Dry land
Steppe land
Coastal region

2.  Which among the following is NOT a
Mesopotamian City ?
(A) Lagash
(©) Ur

(B) Meluha
(D) Uruk

Write the common feature of Buddhjsm and
Jainism. - -

(A)
(BY
©)

Caste system
Sacrifices

Use of the language of common man

(D) Promoting wars

ENG+MAL

SAT D

@6 90 Gol0RIEIRMd ONE. 6IGI Baloa|EEiingo
(A), (B), (C), (D) agm @oswogeq |syerii@ moel
oy eemeoe aflmo asosieriigiens. @i
DAOWEMO aRROIC BOMBLOLDOWEMO @DX
pEmoo  HeelallSlenid. 0T HEHROHED
BTN MIUD HOEMOSHSLIONIM @R®O®
colopjmflomalion eeng. oo mmud @rseElw
alyomo mial @oegEl@ @0jaf melwies eniod
Ol 9ale@oUflal @0jalleais. QOEMOEIBRD
@ alHo00o OMR 9@MOHMHSLIIMI@ @mdl™o
BOEUOQ|SIOMd. G.0l0aEIBR  @OSEEl®
nielO) Hd sauldld mlemgles ¢0od
mmUele, Oad QdSEIM) enlend marigias quoeie)
@almes ®i0laidh@d avled aegomMmMio
Qg) £ B0 .

1. emdomad allen@ies @lalwoy malleve-

aH@® BHOENSOETT ).
(A)
(B)
©)
(D)

Sl alecwo
Q6N ICB U0
al)@ens
naeaieo

2. apaes emilyeadl@® eaemoegogo-

gl muneagpEmeme ?
(A) 2oy (B)
© o (D)  oouey

DT hYe

3.  enyavamemiedwo OORMA®OTlER® o

ealo®y MAIELad® ag)9ImIds.
(A) oafl alaimn
- WOMEERWD

roowo memmoma(ﬁ} B )OS Oal
GowWo

@IAVEBOY (e tomToadla fleanmd
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4.

(¥

Who introduced the script named Kharoshti
in India ?

(A) Macedonia (B) The Romans

(C) The Chinese (D) The Persians

Identify the correct pair from among the
following.

(A) Bimbisara - Haryanka dynasty
(B) Ajatashatru - Mauryan dynasty
(C) Kalashokan - Mauryan dynasty

(D) Shishunagan - Nanda dynasty

Identify the centre of power which does not

belong to the Moovender in South India.
(A) The Cheras (B) The Chalukyas
(C) The Cholas (D) The Pandyas

Catal Hoyuk is a Chalcolithic site in :’

(A) India (B) France
(C) Turkey (D) Spain

The term “Hieroglyphics’ means :

(A) Sacred writing
(B) Wedge shaped
(C) Land between two rivers

(D) Sacred river

ENG+MAL
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D
sEoadd] agyem eflefl eTywie Odroengy
QM@ ?

(A)  @ofleawosmi@ (B)  @O0denq
(C) 662IMmodedd (D)  Galdawyaeng

anaies emmigigad@ dlimio wdwoy
e200l BHOENSOYDIL-

(A) enflosnilarvoa - aO®)E: EORNom,

(B) @oEOmOD®) - YD 02V oto
(C)VL HORIGUDOdHMD - MDD IZRNIoMo

(D) loymomad - M3 @A Iolro

cadleemamaiea @ENDMIBIE ©Weq]-

SOED @OUIHOD CH(TIOAD BHOENSOHdb.
(A) GoiEMdmod (B) 210813dn)mod
(C) eologmod (D)  al06muyd

210O@ HAOIWIAS e ®O@UTIEWN
Ga(3o cudlall e.a1QpMNE) :

(A) @m{;@ﬂm‘b (B)
(C) A=l

(anocdail@
(D)  eqyuiaid

‘08a0800gladlamy agm algo @@
HOIM® :

(A) allyapmo® ag)PiErs

(B) @malod coamyialensa®

C) oo mddaesisallenes leer
(D) afleyaw mdl
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9.

10.

11.

12,

Adamgarh in Madhya Pradesh belonged to
the age of : :

(A) Palaeolithic Age

(B) Mesolithic Age

(C) Neolithic Age

(D) Chalcolithic Age

The names of certain cultural sites and the
states in which they are situated are given
below. Match them correctly.

Sites States
Bhimbetkag
Alamgirpur », (i) Rajasthan
Lothal \\'\(i.ii) Madhya Pradesh
Kalibangan  (iv) Uttar Pradesh
(a)-(ii), (b)-(ii), (c)-(1), (d)-(iv)

(a)-(idi), (b)-(iv), (c)-(), (d)-(if)

(a)-(i), (b)-(id), (0)-(iv), (d)-()

(a)-(i), (b)-(iv), (c)-(ii), (d)-()

(a) (@) Gujarat

(b)
(©)
(d)
(4)
(B)
©
(D)

The Chinese civilization flourished in the
valley of the river : '

(4)
(B)
©
(D)

Euphrates
Hwang—Ho
Tigris

Yangzi

Mention the language of the Sangam
literature.

(A) Malayalam
(C) Tamil

Kannada

(B)
(D) Urdu

ENG+MAL
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10.

11.

12,

(B)

D
aWjalec Wloal @dRomW 9B S
dhO0Rlo :
(A)  (adoafimudlenwimo
awcdlan o
maflmulenmmo
®O@UlRIo®Yto

©
(D)

aflel oomMIe0dld: Eh((136MBRIHS@I0 @oNL-
mdleil ©.21Qimm MoauOd METEY)HSW®0
Bl al)ies M@dsllgiens. @oal-
odlowf cwogdlalleand.

G (B3 6UB (D MVOUOOMETBD
(a) - @loGsnicuds i) OO
(b) @oeoUdldaly® () @oRMOOM
(c) ®eIoLnoWMd (i) W) (ICBUD
(d) oeflenomom (iv) ©OMA lIeRwd
(A)  (@-(), (b)-(i), (c)-), (d)-(iv)
(B)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(id)
(©)  (a)-(id), (b)-(i), (c)-(iv), (d)-()
(D)  (a)-(i), (b)-(iv), (c)-(ii), (d)-(3)

06210l qUoMigone Maldals mElmso :

(A)
(B)
©)
(D)

@3lenglmy
£)ANIWIETE -GN
oesiuilony’

Qo6

Motal Moall@)y T HBIOS @oay
Qg) LI,
(A) oel@ogo
©€) od¢¥

(B) HMOL
(D) 9da}
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SAT © D
13. Rocks are classified as Igneous, Sedimentary | 13. WHeieeg EREUNTo, @RAIME0, SOy
and Metamorphic based on : dmo ag)rilemBem M@@w’mm$mmﬂ9%
@nsioqunomo :
(A) The mode of formation (A) m&(\_noe;(osmo
(B) The hardness _ (B) 0dlmyo
(C) Mineral Composition (C) Womy Vo.oIM
(D) Colour (D) mloo

14. The most abundant gas in the earth’s | 14. @V20NDEIHAET D o@RAUIC HiSiMayes

atmosphe_re is : AIOMBHCDD ?

(A) Oxygen (A) e0amileead

(B) Carbon dioxide | (B) »odeniend we@o&:‘.‘aa«unﬁ
(C) Nitrogen ‘ (C) eemsrM

(D) Hydrogen (D)  ©6anweam

15. Which among the following features is [ 15. mel&lelgiggaiRid@ a@@® quallerau®-
represented with black colour in maps ? woem @l semglm &0 59‘:[' oo @ @
alli@fladlenyma ?

(A) Railway lines (A)  odi@ent alomdnd
(B) Roads o® BOOWHGD
(C) Sand dunes (©)  oem@snimacd
(D) Settlements (D) amoneism®

@:. Anemometer is used to measure : 16. rm‘on‘ilemoa&lgas Oale@ouile] W&‘T‘w
(A) Amount of Rainfall (A) avwles @egal
(B) The direction of wind (B) &odflod dw
(C) Speed of wind Q) ceaog’la@emmo
(D) Altitude of a place (D) moalewlon soma

ENG+MAL 6
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18.

19.

20.

21,
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s- Vil

If the scale of a map is

distance
map is :

(A) 2km (B) 3km

(C) 15km (D) 6km

The most fertile soil among the following is :
(A) Red soil (B) Alluvial soil

(C) Laterite soil (D) Saline soil
Which line of latitude is known as Tropic of
Capricorn ?

(A) 661° N (B) 23% N

© 2%° s (D) 6615° 5
The most important Rainy season in India:
is : |
(A) Retreating monsoon

(B) Southwest monsoon

(C) Winter season

(D) Northeast monsoon

Inner core of the earth remains in so]id state
due to :
(A) The presence of silicates.

(B)
centre of the earth.

there.
Very high pressure exerted at the centre

of the earth.

between the places 3 cm apart in the

Very high temperature prevailing at the ;

The combination of Nickel and Iron.

SAT
17.,

18.

19.

20.

| 21.

(@A)

(@

D

8Q) Bllsonlonq e®O® 1 : 200000

 apeamsd @y elalseid 3 emaFlaigd

aodelomilad qudlofl e.2igm quoslEBd
modlees @LO0AMO BIEED@ 7
(B) 3 :.dil.

Aa) 2.
(D) 6 l.dl.

C) 1.5 .4

®06¢ MalHI5eacid agRaile anelalja-
smow agpimene ?

(A) eoloney (B) ag)&ecd mem
(C) : elogeeog .oy (D) ' lalem o6

a&:16eMmo @ MEOAIHWM - @01 g SN
m&aﬂmmcmsﬂ@@@f ?

(A) 6615° aised (B) 23}5" QUSHES

€ 23Y4° omass (D) 6615° O®ae

ONTOIOEl @R (WM DPHNHORINOEN) :

" nerBaugenilend afldalosm@d dmoslo
(B) OmBS-alSleMMOOM MENdTVI6eNd
©)

(D)

OOU®)) dhOLIo
CUSHE) -l PO mendaroiend

BA1WIOS @O BNOMI 600 QU O @
@OEHOM HOMEMO !

(A) olellesngimains moarlwje.

(B) ®lal®ies GH(MBERIWOED QUSe
HWAM ®oallel.

mmﬂsém rileead, enoyml cvor.aim.

BVDGH (13O GEISE) 6.2J2EMEISIM
agee s@dm adgo.

(D)
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22.

23.

24,

Clouds are formed due to :

(A)

(B)

©)

(D)

Further heating of water vapour in the
upper atmosphere.

The condensation of water vapour

around the minute dust particles in the
atmosphere.

The availability of direct sunlight in the
upper atmosphere.

The absence of dust particles in the
upper atmosphere.

Who said “The office of the President is like
an emergency lamp. When emergency comes

it will light up. When emergency is over the
light will naturally down” ?

(A)
(B)
©)

(D)

B.R. Ambedkar
Rajendra Prasad
K.G. Balakrishnan

R. Venkataraman

The present President of India :

(A)
(B)
(©)
(D)

Ramnath-Kovind
Narendra Modi
Droupadi Murmu

Prathibha Patil

ENG+MAL
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22,

23.

24.

BDAAIETRMD MJato OBHOBBOM d:omEm, .

(A) @emAeHEEO Q@B .

metB&] M), mleoall oray,
2 JSOBHIM®).

(B) @0 ®HU@TIOA Bmdam
ealoslaliselemEes 2 )Gl afleoal syd)-
_afldnmMa®’.

Q) @rmoledemlion s@dm almo-

m el @ emaelg al @il @
(04l -0000.

(D) @omelsdemlean) s@dm allmo-

memREl@ 6alodlalsplmBalns @omo-
avlwyo.

“oolagaidl@es 8oadlmy oy ag)mdee ]
alflgs6icalonriwoeny, (@l orvauflegy@e]
eI aflgss) emelwio, (irlimumus wly
MEMIOS Allgss’ moeOm @eM W dh®o
£2IQ)0” - @DOOS AUOHIBEETIE ?

(A)  enll.epd. @oocsrEHmd
(B) ooem™ (almuod
(C) od.2dl. enioaidsyaismad

(D) @@d. eclsmgoonmd

EDB{OPOMD LMY ®O(aYalwd :
(A) 'mommomf a0l

(B) maom eaodl

(C) EouE] oday

(D) (@fieo aloglad

www.apluseducare,blogspot.com or whatsapp 9746544422



15

( 2. __/_/

27,

28,

The right of the President to send back bills
to the Parliament for reconsideration :

Veto
(B) Resolutions
(C) Assent

Non-Confidence Motion

The most important device to enforce the
responsibility of the Executive :

Appointment
(B) Election
(C) Non-Confidence Motion

Nomination

The apex court of the Indian Judicial

System :

A) District Court

=

Sessions Court

@

(
(
(C) High Court
(

D) Supreme Court

Daily sessions of Parliament begins with :

(A)  Zero hour
(B) Question hour
©) Adjournment Motion

(D) Half an hour Discussion

ENG+mAL

SAT
25.

26.

27.

28.

D

enflgaid alimialdleceowm msemymaiioy
alodeipad@e’ @@l oj@@omd ©oeyal of
H6)88 @OWIHoMo

(A) aflego

(B) (nJeGO®@oO

(©) eq] enugmd

(D) @eaflmpm (lea®o

agemilaydaled semeancimo 80gfo
#OMam asodeiea@em manowilenam
R0 NSMROW ED®IWO !

(A) afeomo
(B) emoesmmgal
(C

(D) mooildegwoo

@oiltjomaleca®o

g

snmyd adlafimyo@ uoaflwomaedeal ale-
GROM® GHOSAS :

(A) lgjocsnosal
(B) &I¥esn0sHl
(C) 06an8HHISA
(D)  myaflossosall

alodaeagleal 06BMoaIMm MSalSldhtd
AD0oEleOHM® :

wmieUs
(B) GAloeRAMACS
@RS 0 Ica®o

@ooaenlendald.o)
P.T.O.
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29. The Judges of the Supreme Court and High | 29.
Courts can be removed only by the process

of :
(A) Impeachment
(B) Suspension
(C) Dismissal
(D) Cancellation

30. By which Constitutional Amendment, | 30.
Defection is prohibited in India ?
(A) 52 (B) 54
(C) 56 (D) 58

31. The upper house of Indian Parliament : | 31.
(A) Lok Sabha I
(B) Rajya Sabha
(C) Grama Sabha |
(D) Legislatixile Asseinbly

32. Lok Sabha members of Kéralg : 32,
(&) 20 (B) 9
<© 12 (D) 15 -

33. The Ex-officio Chairman of Rajya Sabha : | 33.
(A) Vice-President
(B) Speaker
(C) President
(D) Opposition leader

ENG+MAL 10

(A) 20

QORI @ WIOS

D

moziatlo e0s@laflOaIio OOAOBHHSH ).
paI@lo RUWHINOOO mlaHo 6’—”-'{%\3%

(@ :

(A)

@m.ﬂjﬁ]’ﬁ)mﬂﬁ'
B Doy
afloigloro@d

OGOHOH®D

(B)
©
(D)

spyfla@d B:03@050 afielaneq]s @oemaal-
sm e_AV :

(B) 54

(D) 58

(A) 52
(C) 56

DY alodaiea@esl oaldl membelo :
(4) ‘

(B)
©
(D)

GRIOB VB
IRYME
(ODMVE
dleame

Q0 BOT5 @ QLI (VB

©@ROUNETRUD :

wlmymies

(B) 9

12 (D) 15

©)

ag)ds - @adlGa)d
1AM :

9a 0 (Halwi
B) qmfleed
| (Yl @]

(@l emmoal

www.apluseducare,blogspot.com or whatsapp 9746544422

e



class — VIIi

@ Who verify a Bill is a money bill or not ?

35.

ENG+MAL

(A) Prime Minister (B) Chief Minister

(C) Speaker (D) Governor

The best example of Permanent Executive :

(A) The Prime Minister
(B) The President
(C) The Collector

(D) The Governor

Identify the correct statement.

(A) Magnetic lines of force mtersects only
at the poles of a magnet

-—

Magnetic lines of force never intersect
each other

Magnetic lines of force intersect inside

the materials with very low retentivity

Magnetic lines of force intersect inside
the materials with very high retentivity

(D)

SAT

11

34l

35.

36.

D

ao) enflg] wmenflgf @deemo @rgIewo ag)m y
OO SIEBIME @RA ?

(A) (uwomadl  (B) aeum(vs)
©€) qleed (D) mcudemd
mdlee  age maygiale’ gema
©BoaOMeMo :

(A)  (edwoma(rd
(B) @0leHalmfl
(C) BHgHmsd

(D) maudemd

AAWOD (A INSICUM BB

(A) oD smelemmoeau'b HOD b
ng,msurag’l’m% 2O(@R06M n_lmm)oJ(bo
auemuflen .

SO MILIGRQIMHD BCla0allo
aleMialoo elemuleayailg).

(B)

(© dg@lalgl aigee 0088 AR
mm@gm @O(@AIEM Y 00103l STUE

a0aECD alomiaito almulanERE

(D) o‘]g@’lﬂ_ﬂa’l AU8OH® HISIMEeRas

um'meodeniegl@®  ao@aoem
S0 b 6NIRIGOEUMRMD aldMial®o
auemuflenimM @

P.T.O.
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37.

38.

39.

ENG+MAL

Which of the following represents circuit
symbol for LED ?

@A) —\WWW—

——
© —P—
(D) _/.__

Aditya - L1 mission launched by ISRO on

ond September 2023 is intended to study the

dynamics of :
(A) Solar atmosphere
(B) " Lunar atmosphere

(C) Atmosphere of Neptune

(D) Atmosphere of earth like planets

outside solar system

Identify base/fundamental unit in SI.

(A) Joule (J)
(B) Kelvin (K)
(C) Pascal (Pa)

(D) Newton (N)

12

SAT
37.

38.

39.

apaes  agafla{l o @l seym i@
LED-@jes qud#silg 2fladmo agymoens 2

®) AW

2023 ©algoeud 2-my ISRO afleeaallg)
(erg)ré]@c;o ag)@-1 alom aflewwmosnaiom
Bldsfio QUIDIBNME

(A) R @M@ S0

(B) aumem @oomndleo

(©)  omalqurilen @vrmdeo

(D) ®ia W'es’ V@O M B @0
MVE@UOATIMY a0 OIS ®MO®
@a06TBERIOS @OMGB:HO

2lales e.oldemldlenymaiei@ alonyo
@oslaunom SI @enilg seenamm)d:.

(A) =D ()
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240 A speed of 45 knot implies 40.
‘ (A) 45 km in one hour
(B) 45 mile in one hour
(C) 45 nautical mile in one hour
(D) 45 mile .in one I:ninute
41.

9 A negatively charged metal sheet have :
(A) Excess of electrons
(B) Excess of protons

(C) Deficiency of electrons

(D) Deficiency of protons

2. A concave mirror forms image at infinity

when object is placed :

(A) At centre of curvature
(B) At principal focus

(C) Between the focus and pole

(D) Beyond the centre of curvature

ENG4MAL

42,

D

45 @MOg BOUWO ag)M®) @RAMOMOLEITN).
(A) &) aenslendlad 45 km
(B) &) aemlandldd 45 eendd

Q) &r)aamlaniilcd 45 emogsnd oondd

(D) &y AaAdad 45 6endd

amungdlal 2100288 60} GRIAOMEISIE :

(A)  DEISEEIMIEUd @oUSl>m0@f dlaeio

- (B) GLOJO(BéOGTT)&cG:O% @ouWle00@@lenio

(C) DAIHESIMIBBIOS MYIN®
8620l @lHego |
(D) @a108506MYdHBLOS myIO®

960l Blenio

80} GHoaMdEHAl ada|emamimy aymild
agafles mudlaleaigim aaealod
eleflenfloanimoem @M@ daleg]S)

(*)

mm
(A) QUE®IBH((30
(B) Ganoan M

(C) @anoeemimio Galoglmo e0SQfl@d

(D) mmmocymmﬂmgmgﬂgm
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43. Which of the following graph can represent
the distance time relation of an object ?

A
s
g
A) B
A
»l
Time
A
:
® 3
A
Ti_me 4
g
§
© 3
A
Time ”
ﬂ\
:
D) %
&)
Time "
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Two plane mirrors are arranged side by side
quch that the reflecting surfaces face each
other and the angle between them is 90°,
Maximum number of images that can be seen
in the mirrors when an object is placed in

=~

\\
\

Clés

@
e

petween them is :
(A) five
four

(B)
©

(D) no image will be formed

three

The invention that won Nobel Prize for
Physics in 2024 is related to :

45.

(A) Optical fibre communication

Establishment of Artificial Sun in the
laboratory

(B)

Machine learning with Artificial

intelligence

©)

Detection of Gravitational waves

(D)

b

Barometer is an instrument used to

easure :

(A)  Humidity of atmosphere

()  Pollution level of atmosphere

© Atmospheric pressur€

D) Oxygen level of atmosphere

HGuma
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46.

D

90° aeoemlad. @oEl myeu O @lHeM NS
amel edelememBdeslswit aoy Ao
aflom QUDBIEMIOND ©EN0dIM (ldflenilo
NIETBRIOS ag)epo alo@OU

@6M.

(A) @oeral

(B)
(C) oy
(D) (aflenflosnio 86MB0IIg

moel

2024-@ V@ ANV (® _GMOTENI@
MEIMNEFNBORIW HOEMBAME EUTW

e jdldleayma :

(A) salgleed oeaneud aonyen-
GHEaUM

(B) al@ldem CooRlDi@d dhymyd qVARIOM
UDERDOLEITNE

€) EpdSadaucd eefledq) salewoud
0188 daditd calemlerd

(D)  O®IOBHBAHEM ®OONETRURD

®aldb @6Mo

U060 QA ag)(m

@AM :

@mdetatios @OE®
aormdlesmdiesa aeldacsmamiond
@nanl

@ormdlay adgo

anandleonien eosmiireq agal
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47.

48.

49.

The substance that will be flattened on beating
with a hammer is :

(A) crystal of iodine
(B) piece of coal
(C)  lump of sulphur

(D) zinc granule

A few substances are arranged in the

increasing order of ‘forces of attraction’ |

between their particles. Which one of the
following  ‘represents a
arrangement ?

correct
(A) Water, air, wind
(B) Air, sugar, oil

©

(D)

Oxygen, water, sugar

Salt, juice, air

A mixture of ammonium chloride and
sodium chloride can be separated by :

(A) magnetic separation
(B) sublimation
(C) distillation

(D) hand picking

ENG+MAL
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A

0

2lildr 06060 @)l aldEmOmog,m,

aleodmno:
(A) arawod (@IgR@d
(B) H@HO@ dhayemo

©)

(D)

MVRBa0d &g

mless @ @ledred

oflel o 1G0AMATBR @RAIQIOS BH6eNldsd:d
-#eflsaflengs ‘@@ddaremenieiomion’
@DEMIa06M (HhA@MIRIOeM M@
~HNIMN®Y. 2 j0IeS M@l dleanmail
Q@O REIWO®  (HaldEeme
aSlaflufladlenimay ?

(A) OQg80, QOW), Hog

(B) U@y, atemicuon, agyem
©)

B0HMIRM, HAIaR0, alemImon

(D)  oaql, gums, alow,;

@PARVENIo EghoanOUSaM®Io Grouiw

egzoan0uilogwie digimo caud @idles
-M0dh)MN @oRUM@oeS:

(A)  @osile ealddlenmd
(B) omal®mo
(©)

(D)

@VjeMo

anoda’ alflssilens
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to formm & i.;hud substance, AB, according to
the following reaction

A+2B o AB,
Which of the following statements concerning

this reaction are incorrect ?

(a) The product AB, shows the properties
of substances A and B.

(b) The product will always have a fixed

composition
() The product so formed cannot be

classified as a compound

(d) The product so formed is an element
(A) (a), (b) and () (B) (), () and (d)
© (a), (c) and (d) @) () ®) and (d)

Which of the following set of coefficients

would balance the 8iver chemical
€quation ?
80,+0, — SO,
(A) 2,32 ® 2L 2
© 1,11 D) L 3,2
NeamaL

/ SAT
ﬂ]Two substances, A and B were made to react

L
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50.

AB,
w A lBoRMNOETRSINS mgemaflerrat®mdd

51.

D

A, B ag)m o6& aleodmaesBdd (Jud@i o]
AB, agmM al@dd@O0  QENBIMIM
lolud@mmo 21)I6OS on@d A @leenyomy

A+2B - AB,

600 merbmmmmgmocoﬂ WS
enaflajO@mm (IPOUMEEIT HORODA
QREO®OOBODOET 7

ag)Mm  9@gjaMo AB
06BN

b) 9@amEDa) aggjowieejovio 8O
dlealm eaism pameowiidlenio.

(€ ©6BOEIM @ MeaD (=10))
Mo®)sMmao] @0 @ @lenoad
Sllgy.

W) emeow pgjmme &} (D JEIHDOEN.

(4) (@), ®) B ) © @

© @ ()@ D) () ®) @

21QUes N @ 1 A1AHOM @O
A0 ) 6 O o @@yl
@OMEWORMOQ (MoaYD cemea® ?
50, +0, = SO,
(A) 2,32 (B) 21,2
© 111 (D) 1,32

P.T.O.
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52.

53.

ENG+MAL

Analyse the following statements :

Statement I :  Compounds are formed by

the chemical combination

of two or more different
elements.

Statement 11 : Mixtures have a fixed

composition,
Select the correct option :
(A) Both statements are correct.

(B) Both statements are incorrect.

(©)

Statement II is correct but statement I
is incorrect.

(D) Statement I is correct but statement II

is incorrect. -

Generally metallic oxides are basic and
non-metallic oxides are acidic in nature.
Solution of which of the following oxides in
water will change the colour of blue litmus
tored ?

(A) Sulphur dioxide

(B) Iron oxide
©)

Magnesium oxide

(D) Copper oxide

18
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(B) mowend soseamua
(©)
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54.

5 mL of hydrochloric acid was taken in a test
tube and a drop of phenolphthalein indicator
was added to it. When a definite volume of
sodium hydroxide is added dropwise to this
the solution turns pink. What will be the
nature of the solution obtained now ?

(A) Acidic (B)
(C) Neutral

Basic

(D) None of these

Which of the following element got its namé |

from the colour violet ?

(A) Iodine
(C) Xenon

(B) . Antimony
(D) Barium

Analyse the following statements.

3

A

. ENGymaL

Statement  : Homogeneous mixtures

exhibit consistent physical -

properties.

Statement II : Homogeneous mixtures

have uniform particle

distribution.
(A) Both statements are correct and
statement II is the correct explanation
of statément I
(B) Both statements are correct but

statement II is not the correct

explanation of statement I
(C) Statement 11 is correct but statement I
is incorrect

(D) Both statements are incorrect

SAT
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56.

D

B0} sy syienfl@d 5 mL
£6A0BUEER00H; @MU ag)S)E1) @R
caise o) ®iegl oflemo@admefld
cmg_o.lae:e)mo'ﬂg_,]mﬂm’ GUoado, &) Mluzall®
Qjoago EMOAUIDo HHAOGAUILH ST
mies] meglwoafl e¥l.ojod alles wloo
(I @yEUDOBIM]. 8o Hlglw
cl@dl@es Mjedtio af)mOWdiea ?

(A)  @oaSlalas (B)
(C) mysmd (D)

@eru ¥l

DML

21)Q16S NRSN DB HOIM U@ a@®
ngereemflmoem’ caloelg’ aloere il

@oaflom cald aidl.ojo ?

(A)  @oe@orulad (B) @o@laem
(C) eramaeN (D) eéenudl@o
213016Se]0®IMM (0l PO UM > G

allvaseimo 6).21Q)d.
(opoaum [ 1 oRdoadss AUl EmBTd
nudlo®@odm  eEVGIe

WITMETBUD (@ 1HSDOLNMNY,

(oo I : Q0T AlUEmETBUdEe
QR B Y B 0610
aflmeemalens.

(A) oag (adaRIQUMBG0 a6,
(dapocum II, (adopoaim I I

Ao Aflvdlememaosm).

(B) weng (al0RIQUMEBI0 el
agmomd (adagoalm II, (adapacum I
o o aflwdecmag).

(C) (apocum 1l AI@oeM, aldHy
(adapocum I amgosm).

(D) @6 (IORICUMBRle H@AIEM.
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57.

58.

59.

60.

In which of the following conditions, the
distance between the molecules of a gas
would increase ?

(a) -

) g

/Increasmg pressure on the gas
contained in a closed container

(b) Some of the gas, leaking out of the

tainer
Increasing the volume of the container

of the gas
(d)

Adding more gas to the container
without increasing the volume of the

container
(A) (a) and (c) (B) (a) and (b)
(C) (b) and (c) (D) (a) and (d)

Which of the following is a metalloid ?

(B)
(D)

Mercury

(A) Aluminium

(C) Sulphur Germanium

Which of the following is a chemical
change ?

(A)
(B)
©
(D)

Dissolving sugar in water
Evaporation of water
Combustion of gasoline

Dissolving common salt in water

Loranthus grows on a mango branch. The
interaction between the mango tree and

loranthus is :

(A) Predation
(B) Competition
© Parasitism

(D)

Commensalism

ENG+MAL
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| 1. Find the odd one. 61.
: (A) Plasma
(B) Platelet
(C) Red blood cell
(D) White blood cell
62 Central Tuber crops Research Institute is 62.
located at district.
(A) Kottayam
(B) Thrissur
(C) Kozhikode
(D) Thiruvananthapuram
63. Which one of the following is not related to 63.
vegetative propagation ?
(A) Layering
(B) Hybridisation
(C) Budding
(D) Tissue culture
64. (a) is seen as a network and (b) 64.
is seen as a spherical body in the
nucleoplasm.
(A) (a) nuclear membrane, (b) nucleolus
(B) (a) chromatin reticulum, (b) nuclear
membrane
(©) (a) nucleolus, (b) chromatin reticulum
(D) (a) chromatin reticulum, (b) nucleolus
5. A pigment which imparts red colour is : 65.
t' (A) Carotene (B) Xanthophyll
© Haemoglobin (D) Leucoplast
ENG+mAL 21
b
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(B) agdfel

(C) 2R OBMEEHOU0
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(B) ®yRad

(C) €0¥IeH60S
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00 (IEEda JoBMETIA HBEIQSOOTOD
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(A) alefloigd
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(C) 8o Bl

(D) Slayy £Hdold

ndaEAyEUI@ aleleaplad ealoesl

&H06MOa|S}MAIO® _ (@)  agayo,
GIRIBYBI@  HIMESIMAUOD
(b)  agMio alO@My,

(A) (a) adamimeo, (b) adddo
(B) (a) elbomogficd eoafld, (b) adamimeo

(©) (a) 2dado, (b) Gl@0mOFfld goells
(D) (a) a(@omoglnd oells, (b) adadko

Ao afloe MEdeM aldemauay) @en:
(A) gD (B) moemmondl@d
(C) adledoeggomiiad (D) Gwa|mHEMo
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66.

67

68.

69.

Choose the correct statement from the
following.

(A) Mitochondrion is the centre of protein
synthesis in the cell.

(B) Endoplasmic reticulum is the passage
in the cell.

Ribosome collects cell secretions in small

vesicles.

©

(D)

Centrosome contains the digestive
enzymes that destroy foreign bodies.

Find out the organism which cannot be
included in the third trophic level.

(A) Eagle
(C) Rabbit

(B)
(D)

Frog
Tiger

Choose the correct statement from the
following :
(a)

Muscular tissue consists of cells that can
contract and regain the original state.

(b)
()

Fibrous tissue is an epithelial tissue.
Connective tissue controls and
coordinates physiological functions.

(A)
(©)

(b)
(b) and (c)

(B)
(D)

(a)
(a) and (b)

Choose the correct statement related to the
unscientific application of chemical fertiliserg,
(A) Not harmful to soil

(B) Environment friendly

(@) the multiplication of
microorganisms in the soil

Causes health issues

Promotes

(D)

ENG+MAL
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(b) @0 (c) wpe (D) (a) V¥ ®

(b)
(c)
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@owo(ileace momag Ln_mcmoff’“‘u
SIMWeS redlmowie @leasmms
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| 70.

SAT D
Correctly match and find out the answer. 70. d@o@ ¢aldjoals] G oIdEm HEMO
£OETBODb:.
A ]é, A B
(a) Chemballi (i) Rabbit (@) ©almigfl i) o
(b) Kolan i) Duck (b) aoeld @ @oooal
(c) Boer / J (iii) Honey bee () eeruo@d (iii) emadlel
(d) Grey giant (iv) Goat d) 6w BOW@ (iv) @S

(A)  (@)-(), (b)-(itd), (c)-(iv), (d)-(1)
(B) (a)-(iv), (b)-(ii), (c)-(3), (d)-(ii)
©) (a)-@), (b)~(iii), (c)-(i), (d)-(iv)
(D)  (a)-(iii), (b)-(3), (c)-(iv), (d)-(id)

What is the remainder when 662 is divided

71.

by 13 ?
N
(4) 1 ® 2 &
'€
€ 3 D) 4 kg
&
S
3

72, The average weight of 3 men is increased by
4 kg, when one of them whose weight is
100 kg is replaced by another. What is the
weight of the newly added man ?
(A) 100 kg (B) 111 kg
(C) 112 kg (D) 113 kg

73. Which of the following is a prime number ?
(A) 2274 (B) 221
(©) 217w (D) 237%

ENG+MAL

-
k

23

(&) (@)-G), (b)-(ii), (©)-(v), (@)-()
B) (@)-(iv), O)-(), (©-) (@)-(i)
©  (a)-(), (b)-(i), (0)-(iD), (d)-(iv)
(D) (a)-(), (b)), (€)-v), (D-(D)

71. 662 ag)M MUoAUO® 13 ©:06NE aO@l.ojoad

UBlado ag)@® ? |

(A) 1 (B) 2
,:/;' C) 3 (D) 4
ot

72. @M} Gal®l@ mlomyo 100 &1@RI0(M0
BO0MDI88 @P6HE 0ogl Q6ROEIes
¢2lREMER|0W @OUIMIOS (EIMA] @00
4 #lerooo AUAALL)). @PEBOMEOWEIM
)@ c2Idem @O 0 ag)@®?

(A) 100 ssleeooo (B) 111 &sleelowioo

(C) 112 #leaoioo (D) 113 &l@RID%0

73. 230160s 6@®osATldleniMmAi@ @ocoss)
MookL)) a@@moey ?

(A) 227 - (B) 221
© 217 (D) 237

P.T.O.
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74. If the digit 1 occurs 130 times on writing all | 74,
page numbers of a book starting from 1, then

how many pages are there in the book ?
(A) 189 (B) 191
(©) 190 (D) 192
75. 33 men complete a work in 10 days. In how | 75,
many days, will 15 men complete the same
work ?
s\ 2 \f/
k)
(A) 27 days (B) 22 days
(C) 30 days (D) 25 days
76. Which of the following is the smallest among | 76.
) them ?
(A) 0.52 (B) o.04
1
(© 3 (D) +/0.0361
77. The figure shows two square and a shaded | 77.
triangle. If the area of the triangle is
2 sq. units, then what is the area of the larger
square ?
(A) 4 6
©) 8 10
 ENG+MAL 24

D _

D
80) allMHoDldd 8mM) DIO@ G o
Gals MMUOIHLR D560 a8’ agm
@dno 130 malem @B’ alm).
OB @D aPHOW@ ag)® Gaigimdd
o6ne ?
(A) 189
(C) 190

(B) 191
(D) 192

33 EDRH00d ey cmoell 10 dlaime
BN aRAETHIOHOIM]. @PETBOMEW-

BI@ 15 EDA#HIA @Pe®m cgoell
alldemlosn o ag) (@ alaume
ealenglaleyo?

(A) 27 dlauao (B) 22 dlauavo

(C) 30 dlcuavo (D) 25 dlaumo ‘

21JQ16S OdB0SEMIBlen MG a@raio |
621l ag@oen ?

(A) 0.52 (B) +/0.04
1
© 3 (D) o.0361

2l@owld o macimealle &M
$03alofldlenym (@emosmale marial-
#NMY.  (@NedoemEmion alogiedl
2 aimowy @My epwod el
Maalmeenied cleqjgal ag® ?
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A student have to score 40% to pass an exam.
But he got 3,0 score and failed by 10 score.

What is the total, score ? " O .
(A) 6 0 (B) 80
(C) 100 (D) 120

What is the radius of the circumcircle of the
triangle with sides 6, 8, 10 ?

B) 3
(D) 5

Which of the following is the number

90991 + 9991 4 9991 _ 9997 ,
2 4 8 8

(A) 1999 (B) 1998

(C) 2000 (D) 2001

5:4:2

(A) (B)

(D) 10:5:4

2:4:5

(C) 4:5:10

In what proportion should a shopkeeper mix
wheat at ¥ 20.4 per kg and T 28.8 per kg to
geta T 25.2 per kg wheat ?

(A) 3:4 (B) 2:3
© 3 02 (D) 5:3
5 s

25

SAT
78.

79.

80.

81.

82.

(© 100

D

Il A IOaOQUOM BdY dhidess 40 % GRod
GUemo. alBeY B 331 30 ampod
aloesl@eqjodd 10 eqpodlm’  e®IRY.
EOETBEMOWBITM EDES GNROd ag)® ?

(B) 80
(D) 120

(A) 60

6, 8, 10 QUREMBRIES (@lea06eMeEm QIO
O2IQYAN  AUEDEOTIOR @0 ag)® ?
(A) 6 (B) 3

€ 4 (D) 5

211016 OB:0S)aldlenyMaeE

9991 + 9991 4+ 9991 _ 9997 ’
2 1 8 8

qAOMNAOV®) af®) ?
(A)

1999 1998

(B)
(C) 2000 (D) 2001

2A=4B=5C, @pwomd A : B: C ag)m® :
(A) 2:4:5 (B)
(D)

5:4:2

(C) 4:5:10 10:5:4

80 HSYSA @lealog) 204 e allaiwes
Gmommio  28.8 et flei@eg awommuo
AY® AMIOMOT@R g aIdEmoLIoem &my
#1610 25.2 ool ANaiwigs oMM’
eidlenis ?
(A) 3:4

©)

(B) 2:3 |
(D) 5:3

3:2

P.T.O.
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83. The figure shows a shaded regular polygon | 83.
inscribed inside a square. If the perimeter of
the regular polygon is 8 units, then the

perimeter of the square is :
(A) 10 (B) 4+3y2
©) a+42 (D) 11.2
84. How many squares are there in a chess | 84.
board ? ‘
(A) 64 (B) 204
(©) 120 (D) 1296
85. The figure shows a regular hexagon and a | 85.
shaded triangle got by extending the sides.
If the area of the regular hexagon is
36 sq. units, then the area of the shaded
triangle is :
(A) 6 sq. unit
(B) 5sq. unit
(C) 8 sq. unit
(D) 7 sq. unit
26
ENG+MAL

D
al@omldd  &0iallafldlanimm
MUDEMNIANYERAIe  ER@IOM  Qlaim,
§.01QymM B0} MB_2I® 3001,
@ardlemomy.  VAENIaOIRIROW 6 )
anpeal 8 @emlg eP®OE alelg
mmmm&mMQ@ 21380l ag)® ?

Qm&

(A) 10 (B) 4+3+2

(C) 4+4+2 (D) 11.2

er) oalq)  emodwl@  ag@.
MO0 IOYEEBR Sene ? !
(A) 64 (B) 204

© 120 (D) 1296

2)Q1OS 6®HISIETBlHNM 2 limewldd &
MDaUW IR0 AUNEBRD Mgl Qleg)
S0 lalldlanm amy (@lemosmalie eerE
MaaHUiB)BOETOM alog|aal 36 21®EA

@My  ERWOM &0l of1@lHnam
(@lemoemaniion aloegal :

(&) 6 2@ ey
(B) 5 almow @yemlg
(©) 8 oimye @
(D) 7 aloyewy ey
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86. Ifx=3+\/i_6,then x—-; is : 86
(A) © (B) 2410
©) J10 (D) 9
g7. If the figure s-hows a regular pentagon and a | 87.
equilateral triangle, then angle x is ;
(A) 45° (B) 48°
(C) 49° (D) 50°
88. The price of mango is diminishing by 15% | 88.
and its demand increases by 20%. What is
the resultant profit/loss ?
(A) 1% profit (B) 2% profit
(C) 1% loss (D) 2% loss
89. Which of the following is the least number | 89.
when divided by 8, 12, and 20 Jeaves the
remainder 5 7
(A) 115 (B) 120 \ @\
(C) 125 (D) 130 7/\@
v 4l v
. Which of the following is the unit place of 90.
780 9
(A) 7 (B) 9
©) 3 (D) 1
-000-
"NGma

v

1
x=3+1/10, @OQOM X~ — agmMay:

(B) 2410
D) 9

2@Em @ 80) MAaleRAGIRAI0 B0)
Mo R(@esHoemalio  ®MIEl#H0M].

@H0eMBOT x ag)® ?

D

(B) 48°
(D) 50°

(A) 45°
(C) 49°

poemBEes allel 15% &j0aumeq o
@OUOS @EDAUWGH® 20% aldavl ol
gy B, EREBOMOWHIT EOnd
anelno@ll Qe 2I0Eo/Mao agf)@®IEM?
(A) 1% eio@o (B) 2% eloeo
(C) 1% Mayo (D) 2% mnayo

216 eE:0s)EBldleniMaIRi@ 8, 12, 20
ag)m VoM OMHOENE aOGlHNIBMIOWD
Wlago @oeml 15N a@Ralie ©2101®
Mookl)y aRMoem ?
(A) 115
(C) 125

120
130

(B)
(D)
210165 6 @05iOD@leniM U@ 7231
af)M Moelj®@es samleq a9 M @Y
QUM o6 a@oem ?

(A) 7 (B) 9

C) 3 (D) 1

-00o0-
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